

DEFENDER SUPPLY

845 West FM 407 Argyle, TX 76226

Date	9/2/2020
Estimata	George Severe
Estimate By	george@defendersupply.com
	(903) 564-5641



Bill To
Williamson County TX PCT. 1 Constable
Chief Mike Pendley
1801 E. Old Settlers Blvd., Suite 105
Round Rock, Texas 78664
512-244-8650

Customer Contact	Mike Pendley # 5101		
Customer Phone	512-244-8650		
Customer E-mail	mpendley@wilco.org		
Estimate #	28788		

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Federal Signal - PBX Series Push Bumper Four-Light top-channel for Chevy Tahoe and Ford F-150 bumpers, use with MPS600U or MPS620U lights		1	27.33	27.33
Tech - Please do not install the Recovery Hooks per customer				
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White - Mounted in Bumper Tube - Programmed to do Take Downs when Activated		2	90.00	180.00
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Mounted in Bumper Tube - Programmed to do Take Downs when Activated		2	90.00	180.00
Federal Signal MicroPulse Ultra 620, Dual Color Surface Mount LED Lights in Red/Blue with Clear Lens, Intended to be Flashed with the Pathfinder Siren Controller & has Dimming Capability - Flush Mounted to the sides of the Push Bumper		2	58.75	117.50
Defender Intersector 180 Degree Output LED Tricolor - Red/Blue/White Under Mirror Mounted Light for Critical Intersection & Side Warning Purposes - Whites to do Alley Lights on Steady Burn		2	143.00	286.00
SoundOff nLINE 60" Running Light w/Bracket Mount, 10-16v - Split Color - Red/BlueLEDs		2	398.00	796.00
Federal Signal MicroPulse Ultra 620, Dual Color Surface Mount LED Lights in Red/Blue with Clear Lens, Intended to be Flashed with the Pathfinder Siren Controller & has Dimming Capability - Mounted in Rear Side Glass - Whites to do Alley Lights When Activated		2	89.48	178.96
Federal Signal - Surface Mount Bracket - Mounted in Rear Side Glass		2	12.085	24.17
Federal Signal # FS-MPS620UX-RR - Driver Side - Mounted under Tahoe Spoiler		3	73.70	221.10
Federal Signal # FS-MPS620UX-BB - Passenger Side - Mounted under Tahoe Spoiler		3	73.70	221.10
Federal Signal 2015-2019 Tahoe Spoiler Bracket Kit		1	49.50	49.50
Federal Signal - 24LED Lighthead Dual Color Red/Blue - Surface Mounted Horizontal right beside Rear License Plate # FS-MPS1220UX-BR		2	118.94	237.88

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 4

Total Vehicle Order Cost \$216,000.00

Page 4





DEFENDER SUPPLY

845 West FM 407 Argyle, TX 76226

Date	9/2/2020				
Estimate	George Severe				
Estimate By	george@defendersupply.com				
	(903) 564-5641				



	Bill To
	Williamson County TX PCT. 1 Constable
	Chief Mike Pendley
	1801 E. Old Settlers Blvd., Suite 105
	Round Rock, Texas 78664
ı	512-244-8650

Customer Contact	Mike Pendley # 5101		
Customer Phone	512-244-8650		
Customer E-mail	mpendley@wilco.org		
Estimate #	28788		

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Federal Signal MicroPulse Ultra 620, Dual Color Surface Mount LED Lights in Red/Blue with Clear Lens, Intended to be Flashed with the Pathfinder Siren Controller & has Dimming Capability - Mounted on Bottom of Liftgate Lid		2	84.02	168.04
Pro-Gard 5700VS Series Space Saver Plus Partition with VIPER Shield Integrated Level IIIA Ballistic Shield (Side Curtain Airbag Compatible) for 2015+ Tahoe 9C1 or SSV		1	3,143.56	3,143.56
Dual Weapon Lock, T-Rail, with Timer & Key - Mounted on Partition		1	325.00	325.00
Setina T-Rail Universal Lock, EoTech Bracket to Fit Oversize Locks to fit AR-15 optics		1	15.00	15.00
Pro-Gard Charcoal Grey ABS Standard Straight Back Transport Seat with Wire Mesh Screen and Outboard Seat Belts for 2015+ Chevrolet Tahoe		1	1,225.44	1,225.44
Pro-Gard Pair of Rear ABS Door Panels for 2015+ Chevrolet Tahoe		1	98.00	98.00
PG-WB57T15 Pro-Gard Pair of Rear Seat Window Bars for 2015+ Chevrolet Tahoe using Pro-Gard Door Panels (Must order part # PG-DP57T15)		1	169.95	169.95
Whelen LED Flush Mount Compartment Light in Red & White - Mounted over Rear Prisoner Seat, Switched Separately with Switches on Driver Side "C" Pillar & Passenger Side "C" Pillar		2	47.52	95.04
Stalker Dual SL - "Ka" Band - Front & Rear Antenna Moving Radar Unit with Automatic Same Direction Operation-Package includes: * Stalker Dual SL Fixed Radar Unit * Front & Rear Antennas * Cordless Infrared Remote * Mounting Brackets * Connection Cables * Ergonomic Backlit Wireless Remote Control * Tuning Forks * Operators Manual Radar / Video Interface Cable is Additional.		1	2,270.40	2,270.40
Stalker Mounting Brackets for Counting Unit & Front Antenna for the Stalker Dual SL & DSR 2X Radar Systems for the 2015+ Chevrolet Tahoe 9C1		1	106.64	106.64

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 4

Total Vehicle Order Cost \$216,000.00

Page 5





DEFENDER SUPPLY

845 West FM 407 Argyle, TX 76226

Date	9/2/2020
E-4:4-	George Severe
Estimate By	george@defendersupply.com
	(903) 564-5641



Bill To
Williamson County TX PCT. 1 Constable
Chief Mike Pendley
1801 E. Old Settlers Blvd., Suite 105
Round Rock, Texas 78664
512-244-8650

Customer Contact	Mike Pendley # 5101	
Customer Phone	512-244-8650	
Customer E-mail	mpendley@wilco.org	
Estimate #	28788	

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Plastix Plus Rear Cargo Box (passenger side) with side plate and push button lock & key override option		1	1,488.00	1,488.00
Shipping of Above Cargo Box		1	250.00	250.00
Custom Reflective Vehicle Graphic Kit from Grafix Shoppe - Est # 04848		1	500.00	500.00
Professional Installation of Graphics by Mike Glass @ Defender Supply		1	150.00	150.00
Window Tint - For Two Front Windows to match Rear Windows		1	89.95	89.95
Defender Supply wiring harness, power distribution and battery management		1	559.25	559.25
Wash and Prepare Vehicle for Delivery to Customer		1	100.00	100.00
Dealer Prep		1	130.00	130.00
Misc. Shop Supplies		1	30.00	30.00
Shipping of Above Emergency Parts for Upfit		1	150.00	150.00
Installation of Above Emergency Equipment & Customer Supplied: Panasonic Video System Cradle Point Wiring Harness Cradle Point Antenna (Mounted in the Front on the Side of Console). Police Radio Antenna - Roof Mount Havis Docking Station Tech please pre-wire for a one piece Motorola APX7500 on ignition radio in console & take note per Federal Signal: Please make a note that the MPS620UX series lights will need an extra wire installed to Pathfinder siren amp. (Programmed through Pathfinder software) MPS620UX-BR needed for rear spoiler and MPS620UX-RW, MPS620UX-BW needed for front top channel on push bumper. Rear spoiler lights will also be programmed for Traffic Advisors Customer to Pick Up Vehicle		45	100.00	4,500.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total \$54,000.00

Quantity Ordered

Total Vehicle Order Cost \$216,000.00

Page 6



Agenda item #33, 02.23.2021, Tahoes for Constable 1, Holiday Chevrolet part 2

Final Audit Report 2021-02-23

Created: 2021-02-23

By: Kerstin Hancock (khancock@wilco.org)

Status: Signed

Transaction ID: CBJCHBCAABAA5Jp1GTS-HNDe2C-M4f8cgYboBuz5qehk

"Agenda item #33, 02.23.2021, Tahoes for Constable 1, Holiday Chevrolet part 2" History

- Document created by Kerstin Hancock (khancock@wilco.org) 2021-02-23 4:53:15 PM GMT- IP address: 66.76.4.65
- Document emailed to aschiele@wilco.org for delegation 2021-02-23 4:54:47 PM GMT
- Email viewed by aschiele@wilco.org
 2021-02-23 6:13:20 PM GMT- IP address: 104.47.64.254
- Document signing delegated to Bill Gravell Jr. (bgravell@wilco.org) by aschiele@wilco.org 2021-02-23 6:13:36 PM GMT- IP address: 66.76.4.65
- Document emailed to Bill Gravell Jr. (bgravell@wilco.org) for signature 2021-02-23 6:13:36 PM GMT
- Email viewed by Bill Gravell Jr. (bgravell@wilco.org) 2021-02-23 6:43:57 PM GMT- IP address: 104,47.64,254
- Document e-signed by Bill Gravell Jr. (bgravell@wilco.org)

 Signature Date: 2021-02-23 6:44:18 PM GMT Time Source: server- IP address: 66.76.4.65
- Agreement completed. 2021-02-23 - 6:44:18 PM GMT

